PR 5844~

4111-65  HlFE-1

e

\\ RGeS R FRERIL W FIRME
B &£ W A BAQT
L2-0-37FINTEF I K L pom kel = 0.01
----- e A 4 - s r——
‘3‘13DT _____ ppm R = 0.01
4:EPN ppm N i 0.01
SEPTC ppm Trath — 0.01
CEEMC e FRH - 0.01
- 777'J7“|~')/ ................................ oy e e - e
857:/"/7}1151'3')1/ pDmM GS: il 0.01
97 ULHRAAFI ppm ES 0.01
ppm Gy il — 0.01
ppm X EFEE — 0.01
e e - s
2 . o T I e
..... e AL opm it 001
_____ 15: 1 YFHFA > o ppm 1 .
e W e bR ik
= /7“1:171) L s o e
..... 181Y70F435> ppm it
19 A VA oF ppm ]
20 {703 Rt
L PEE ) ppm XM —~ 0.01
22i1 > REYANT . ppm AR 0.01
2By=aryor oo it 001
24 17\7[373}[/7' ppm e = 0.01
L2 T ATz VT, ppm ioten - 0.01
B R o R s
2TTF 4 T VKR ppm Tt - 0.01
28T kY — I ppm T = 0.01
At 0.01
TR - 0.005
Tha - 0.01
AR — 0.01
K| 0.01
AR 0.005
AR o 0.01
R o e
37 T XU R A ppm ZUF&'EH - 0.01
_____ ‘3 8 )’J']I‘/X ro—)b ppm R =~ 0.01
..... BTN o . 0.01
40273)1/701:'/.{.5...# ..................... - S - =

OBBEBIZ DNTIEHIM MMTRKOMOFNIDNT) 2IHILE N,
O#BFERICBNT IFBH) LIk, BRTREAMTHL I LEZERLET,
MREFREICDOWTRIMIRRAE R Fa b,



TR $44-4111-65  FIK-2

RS = TRE A i T RR A

W & W B B
Al Ry 7 IF )L ppm Rl - 0.01
42iF WK A ppm Akl = 0.01
43% )% T ~ ppm P -~ 0.01
44y <2 oo sameree| 0 | 0.01
CASyLYFILAFN ppm . Mtvdad = 0.01
46 ryujeykz ppm M 0.01
47 JONEYFEAAFL ppin N it 0.01
..... /oI ot = 001
Loy prn s s I 001
‘307121}1«7:1: S EZERA ppm ARl — 0.01
Sy ELT Ty A N DDM A - 0.01]
52 '7 D)l« 7[:' T - ppm TR 0.01
53 0 ﬁn%j ppm | Az = 0.01
54 7EID'£:/“‘I')1/~— ~ ppm B — 0.01
S5i U F AL ppm AR s 0.01
567 DDIm 7F*ﬁlﬁ 0.01
BTy Jx kA ppm Rt = 0.01
__ 58 /7 IR R ppm FREH — 0.01
59 PIRTANT ppm I*ﬁfﬁ ..... 0.01
- 60ir i Ay bk ppm EN i il 0.01
61‘}7 U7x>>F% ppm A — 0.01
6255 DV ERRTF L K ppm FRH 0.01
63 Rl ppm- R i 0.01
< e i = o
6‘3 ZRZIFN ppm XINEAEE 0.01
66//\nhlj/ ........... o= Y R - ¥ e
67 SNy TTF N ) ppm AR = [
68i2 7/ a3/ —)k ppm ARt 0.01
69:2 7)) ]\U/ ppm ARH 0.01
i IN TN ppm XIE ABE — 0.002
UZTNRIZTY o b DT i 001
72i oot s—) ppm A 0.01
3ozl ppm RE FHE — 0.01
T4 R AR > ppm N — 0.01
B AT ) DI AR = 0.01
6 AFIVE KRR ppm /Hﬁtij ‘‘‘‘‘‘‘‘‘‘‘ = 0.01
77D AFF3 K ppm Tt —~ 0.01)
TBiVARI— b DD I diy 0.01
TRDANENT ppm EN ! 0.01
B0iS A b1 o ppm B Y 0.01

OBEREEIZIDLTEANE TMTREYOWMOBEDIZDNT, &I EE 0,
ORB#ERICBNT IR &, BRTRERBTHDHILEERLET,
KYWERGEIZDOOWTHIR THWPETBETI W,



IR 544-4111-65  BIFE-3

T
\
T ARG TR EE e NIRE
B f£ A B Bpr
8li>F 7 ATz ppm A pei 0.01
82i L AFY > ppm L 0.01
83 Xt”glji“)ﬁtl’/l‘/ ppm Tt 0.01
""" 84. X)I/7l:] RA ppim Arat 0.01
S ANEKT YT ppm FHait 0.01
""" 86 51NN R SR AR 0.01
BTHATI) | pom FRRH 0.01
""" 8851 D> ppim Rt 0.01
BYiFANRLHINT ppm ES il 0.01
90iF A A ppm N 0.01
ILF T2 R ppm TR 0.01
----- 92 FAINE J?ﬁ(ﬁ?)l/ R ppm AR 0.005
''''' 9 3 7‘?"3:!‘)“/—)1/ ppm AR 0.01
94 7'-:)I/7 o—Jjl ppm Frritt 0.01
9517 7aF /) ppm ] 0.01
ez 7D ppm ENi 0.01
..... 5.3.;“7;"'/71‘/55 R ppm ey il 0.01
9877k ppm R 0.01
QUNFINHF AR BT RZOARN) ppm N 3y 0.01
100iFNTRA ppm N 0.005
Q0L RUT A S pom Tl 0.01
102 R U 7S H R ppm R 0.01
i e e R s
s o i e e el
105 R T T > pom | K 0.01
106 M L7 ORAAFN ppm w0 0.01
1075 pa7 o/ =) ppIm Tkt 0.01
108: /85 F A > ppm il 0.01
10885 F 42 AF )Y ppm | Tt 0.01
110 NVTx>7Tay A ppm Nt 0.01
NLEALZARY S | oom Rl 0.01
1N2EanFIzs ppm FRa: 0.01
N3EFLE ) —) bpin ArRi 0.01
114 1//7 A o | AEH 0.01
115 E;I >hU ppm AR 0.01
1165 7 O A ppm o . 0.01]
11? 2 %/:‘:/7I/ ....... ] I T R R s
18 E5TN Tz IFN * oom w| 0.01
lllﬂé If U T FA ppin e 0.01]
120iE ) ¥R ppm s3] [ 0.01

OBEBEEICOVTIINE (MIBROWBENIDONT! 2IESEI 1,
ORMBZERIZBWNT T &1 BEFEERETHLIZEEERLET.
XMEREIZ DOV TIRBIER T ZE ZET &,



ik #44-4111-65  BIRA

______—_—__ﬁ_ﬁg“—“‘“"‘“““-\ Al EHE R TRER AL 1o T IR AH
B & T H i
12L¥) 72 /97 A ppm AH 0.01
122 Py TFANT ppm ST 0.01
12y yo¥sver  ppm KRt 0.01
7! AT aa— . o ik
125 EUE Ny S AFA ppm R 0.01
126: ¥ 15";%_1 AF )V . ppm Rt = 0.01
It Ty e A— o i - iy
‘ 128: L b ')/ ......... ppm it = 0.01
129:7 4 700 Z)) ppin BN ar 0.002
130 717’5$X ppin I AR =~ 0.01
13172 UEL ppm S Y 0.01
1327z hOFas ! bom Kt 0.01
133 71/:\;*;;)1/ ppm TR — 0.01
134 7M:;.";—T-+}7°D w S ITFI ppm TR = 0.01
1357 x /) THNT ppm i dis) 0.01
136 Jx 7\)1/'7'1;;71‘ > ppm AR = 0.01
137 x> FA+ ppin 1 = 0.01
138:7x > hx—+ ppm ArEd) 0.01
139i7 AL L—F ppm A - 0.01
140 7T ‘I/"TfEJ/\" [ ppIn AR = 0.01
1417851 8 ppm Rz th 001
14275 -l ppm AR = 0.01
I 143: 77 3R 2 ppIm A1 — 0.01
[Haaio5L—r ppm ARt 0.01
465 7 Jnoxy > ppm 'F#ﬁﬁ"u = _ 0.01
146: 7 )L A A1 ppin N =i R 0.01
147 INFaF/—N ppm . ARE : 0.01
148: 7 )V A+ =) ppm AR = 0.01
149: 7 )13 b1} 22— | ppm Ttk = 0.01
150 713 5 — ppm Ee - 0.01
LIRS =)L ppm KRR 0.01
152 ;)W\"‘J.%.; b ppm TR 0.01
15377 ) pA0y ppm AR — 0.01
]547)]/371_4”}// ...................................... o it . . e
i g e s - o
i s = - S R .
1571703 3 R ppm 1] 0.01
158 7OFAHA pom KR! 0.01
159 7o) ppm At ) 0.01
160 VAsTAR 4 ppm AR 0.01

OBRBEMICOVTIEINM MIAGOROFNIIDNT] 28 ES 0,
ORBRERIZEVT IFRE &, A TRERETHAILEEKLET,
KBIEAREEIZ DWTIIBNE Z&#HD 2 T8 F a0,




PR %44-4111-65  BIER-5

e
—
AR TRRE AL 2 FERAE

M & H B Hihy
16175V Fw b ppm ES i 0.01
162 70 ar/— ppm T Kt = 0.01
< M;DDITI T 0.01
164/ FOYy Z &> ) ppm Tt — 0.01
B e e s o
ppm AR 0.01
ppm BN - 0.01
pom At = 0.01
‘169 JoEJ/uElL—h ppm AR == 0.01
170 70ERATFL ppm Tt = 0.01
17 inFHad/—) ppm e =i 0.01
172iA 75 7oL pom [ e 0.01
173GV R B 2 ppm FratH 0.01
174 Reary—n pom | AR == 0.01
175 /\// ! / ppm et 0.01
P Riprpr— iy i e e e
TR F A AZY S 1 ppm At ~ 0.01
178N L —k ppm. A = 0.01
.................. : b e e o
jomy— e - v
....... DDm" R 0.01
183 R A A v b ppm “ F 0 . — 001
184i R IEF A > ppM el : 0.01
T o e . o
e i L e o
187z u75=0 ppm AR — 0.01
188 A SN XFT A ppm et 0.01
189 253 kK ppm KR - 0.01
19025 SFLNRUAT ) FFE pom | Tttt = 0.01
el FAANT ppm TR — 001
192 AFHF o > " pom g 0.01
193 ARTL pom | At 0.01
194X k5 o0— ) ppm R - 0.01
e ;(hl)j// ey [Ee— = - e
196: X 7 x Ft v ppm | BNt = 0.01
197 xTn= ppm Tt 0.01
1981E U 2 | ppm B " 111 = 0.01
199 ') Zana / ppm ?:ﬁ& 0.01
e e i et . e

OBREESIIOVLTIZIE NILARORDBEVRIZIDNT) 2B,
OMBRERIZBWLT (R &L, MAFRERBETHLIIEEZERLET,
XYPEREIZ DWW TR IHRHE IETE L,




